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Q*R ��SDTVU�W-X�W-Y�Z\[�]
U = 10X

W-]

p(u) =

{

1

10
0 ≤ u ≤ 10

0
W-^_^_W-]a`

`Vb1XJc
U
[�d

Y
W-]�eJc*Z\UJSfY�d�g_d�W
W-]

p(u, y) =
1

10
0 ≤ u ≤ 10 , 0 ≤ y ≤ 1

[�d
p(u, y) = 0

W-^_^_W-]a`

h�R

P (Y >
1

2
) =

∫

1

1

2

dy =
1

2

P (U ≤ 5, Y >
1

2
) =

∫

5

0

∫

1

1

2

1

10
dydu =

∫

5

0

1

10 · 2
du =

5

20
=

1

4

`Vb
P (U ≤ 5|Y > 1

2
) = 1

4
/1

2
= 1

2
.

iAR

V = U + Y

EV = EU + EY = 5 +
1

2
= 5.5.

V arV = V arU + V arY
XJc= j[�d$klW-]HeJcmZ\UJSfY�d�g_d�W

EY 2 =
∫

1

0

y2dy =
1

3

`Vb
V arY =

1

3
−

1

4
=

1

12

EU 2 =
∫

10

0

u2du =
100

3

`Vb
V arU =

100

3
− 25 =

25

3

`Vb
V ar(V ) = 100

12
+ 1

12
= 101

12
.
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n R
Cov(X,V ) = Cov(X, 10X + Y ) = Cov(X, 10X) + Cov(X,Y )
= 10V arX = 10

12 o

h


